WA L% (2] = 9
kﬂl?‘ }\]_%—]LHO:] E_H]E_ A %q]o:l =7 =7) 7] S o:“)\].ou Sk 7;”
A]"ﬁ = = = pul = T 60 m e} = H
3+ 5,897,687 27,808,278 33,705,965
5,897,687 27,808,278 33,705,965
ES ACRTA 5,367,759 26,340,928 31,708,687
£9,662 1,362,602 1,352,940
WA Y E X A7 A A 29,662 1,339,389 1,329,727
ALY ER] =] Y 29,662 1,339,389 1,329,727
1. ZFAFARI A XY 29,662 1,312,389 1,302,727
7}, AR FEARI AR X Y 29,662 1,312,389 1,302,727
1) 718+ 110-04 |726,616,0009 — <71%>716,439,0009 = 10,177 716,439 726,616
2) A7 2 F A+ 110-04 |145,004,000¢ — <71%>154,620,0009 = 19,616 154,620 145,004
3) MESG 110-04 |28,500,0009 — <71%>27,600,0009 = 900 27,600 28,500
4) AR 2 110-04 [6,278,0009 — <71%>10,704,00091= A4,426 10,704 6,278
5) WER ZH 110-04 [26,514,0009 — <71%>26,640,0009 = A126 26,640 26,514
6) F211) 110-04 |53,990,0009 — <71%>57,720,0009 = A3,730 57,720 53,990
7) A5 110-04 [42,853,000¢ — <71%>46,466,0009 = A3,613 46,466 42,853
8) WA EF ) 110-04 |36,000,000¢9 — <71%>37,000,000¢ = A1,000 37,000 36,000
9) A7 AE 110-04 |22,200,0009 — <71%>18,500,0009 = 3,700 18,500 22,200
10) 23 E ) 240-02 15,367,0009 — <717%>14,800,0008 = 567 14,800 15,367
11) A& 320-12 |107,017,0009 — <71%>95,984,0009 = 11,033 95,984 107,017
12) =9+ 320-12 137,000,0009 — <7]14>47,375,0008 = A~10,375 47,375 37,000
13) A713 320—12 |28,895,0009 — <714>32,215,000¢ = £3,320 32,215 28,895
14) w1 &7] Q ok 3] 320-12 2,091,0009 — <71%>2,111,0009 = A20 2,111 2,091
15) 7853 320—12 |14,511,0009 — <714>15,792,000¢ = ~1,281 15,792 14,511
16) 24 13 320-12 9,891,0009 — <717%>8,423,0009 = 1,468 8,423 9,891
8324 1,945,635 956,129 2,901,764
RS IS 105,250 235,718 340,968
Aol WAL B Z7FALE- 135,250 87,750 223,000
1. golN R ZuALLS 4,210 550 4,760
7} AR as 4,210 550 4,760
1) *948= 210-01 |50,0009¥ x11%= 550 550
2) A1) 210-04 18,0009 x 201 x 42 = 640 640
3) 7+21H) 210-04 13,0009 x 207 x 23] = 120 120




N8 AEZHEU A
71389 Ae R ERtnSA 9 (k9] - A 9)
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 2452 | AAdna | 2
4) Z>uhn) 210-04 |40,0004 x 20 = 800 800
5) el s 210-07 |500,0009 x 1t} x 23] = 1,000 1,000
6) A 3n) 210—-15 |40,000€ X207 x 18] = 800 800
7) 323 230—-02 |15,0009 x 10 x 23] = 300 300
2. YoM B Z T A AN 131,040 87,200 218,240
7F B 82,200 69,600 151,800
1) 15+ 110-03 90,000,0004€1 — <714>15,000,000€4= 75,000 15,000 90,000
2) AR Fg 110-03 6,000,000€ — <714>2,400,0009 = 3,600 2,400 6,000
3) 3T 110-03 7,200,000€ — <714>3,600,000¢1 = 3,600 3,600 7,200
U FEelate 110-03 24,000,0009 — <714>9,600,0009 = 14,400 9,600 24,000
N B = 210—15 |300,0009 x 27 = 600 600
2}, =3 70 210—15 |1,650,0009 x 27 = 3,300 3,300
I e ) 9,200 2,000 11,200
1) A A FR AR 210-15 |6,000,000¢) — <7]1%>2,000,000¢ = 4,000 2,000 6,000
2) Al3fA kX L] 210—-15 |1,300,000¢ x 2% = 2,600 2,600
3) Aleket g =] £ln] 210—15 |1,300,0009 x 27 = 2,600 2,600
vl FASANA 210-15 [500,0009 X 3% = 1,500 1,500
A}, B A = 320—13 |2,550,0009 x5 = 12,750 12,750
o}, A F It 7,090 6,000 13,090
1) Fyled 320-13 |6,827,0009) — <7]1%>3,128,000¢9= 3,699 3,128 6,827
2) AR 320—-13 |4,737,0009 — <71%>2,172,0009 = 2,565 2,172 4,737
3) 1AV Qokr 3 320-13 [311,000¢ — <7]1%>143,0009= 168 143 311
4) AA RE 320-13 |1,215,0009 — <71%>557,0009= 658 557 1,215
JF N SEERY £A30,000 147,968 117,968
1. 9olA gz 1AL A A30,000 147,968 117,968
7}, A Q) 9] o] IR = 2] A30,000 67,600 37,600
1) 98 210-01 |904,000€ — <7]%>900,000¢= 4 900 904
2) a5 S 210-13 |27,300,000€ — <71%4>57,300,0009= £30,000 57,300 27,300
3) WEH 310-01 |1,430,000¢ — <7]1%>1,500,000¢1= AT0 1,500 1,430
4) 2n] 310-01 |528,000€ — <7]%>480,000¢= 48 480 528
5) 7+214) 310-01 |198,000¢ — <7]1%>180,000¢= 18 180 198
R R s e B 600 79,639 80,239




7188 A& 22 A
713 AE R Rt SA 9% (] - )
o) 1=

gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
F RS RN B oo R PR 5 600 43,844 44,444
1. FBAFLAS S 600 43,844 44,444
7}, #pEA A AR 600 43,324 43,924
1) 7185 110-04 19,724,0009 — <714>19,224,0009= 500 19,224 19,724
2) A 714 o] = 110-04 |600,000¢ — <71%4>500,00091= 100 500 600
A& 753} 1,839,785 110,858 1,950,643
B RS A o] AP 1,839,785 0 1,839,785
1. A KA H e 1,839,785 0 1,839,785
b AR A A S F 1,839,785 1,839,785
1) AAm 420-02 |1,747,700,0009 X 3.694%= 64,560 64,560
2) AlAH] 1,747,700 1,747,700
7h e A S A= 420-03 |2,410,000¢1 X 680m' = 1,638,800 1,638,800
W) 7287 420-03 30,000,000 x 14 = 30,000 30,000
) FAxA 420-03 78,0009 X 400m'= 31,200 31,200
) dABT 420-03 |1,590,000¢ X 30m= 47,700 47,700
3) 7Z+en) 420-04 |1,747,700,0009 X 1.155%= 20,185 20,185
4) A A 2] 420-05 |1,747,700,000€1 X 0.42%= 7,340 7,340
ASERA Y 168,200 3,761,213 3,593,013
FAA Y A180,203 2,972,302 2,792,099
EE=NR AR 180,203 2,972,302 2,792,099
1. Fo]E&R g 34 A166,290 2,753,475 2,587,185
7} 6= 620-03 |123,155,0009 — <7]%>132,450,0004= 79,295 132,450 123,155
U x=8w 620-03 |851,695,0009 — <7]18>865,967,000¢ = A14,272 865,967 851,695
o}, =8k A17,755 698,604 680,849
1) 29 620-03 |191,480,0009 — <7]18>192,509,000¢ = A1,029 192,509 191,480
2) AF 620—10 |489,369,0009 — <7]1%>506,095,0008= ~16,726 506,095 489,369
2}, 1=8km ~124,968 1,056,454 931,486
1) 29 620-03 |547,762,0009 — <71%>656,662,0008= 108,900 656,662 547,762
2) A 620-10 |383,724,0009 — <71%>399,792,0009 = ~16,068 399,792 383,724
2. AFAEAER QY A13,913 218,827 204,914
7} 6= 620-03 |9,707,0009 — <71%>10,399,000¢ = ~692 10,399 9,707
U x58w 620-03 68,427,000 — <71%>69,563,0004= 1,136 69,563 68,427
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718 AEFEWSA

AR s B Rt ety S) ks S R (k] - xd9)

gopzg 22| B3| 2% RESHE Sy Ao 247 Ao | g
o}, = A2,202 56,398 54,196
1) ¥ 620-03 16,312,0009 — <714>16,975,0004 = A663 16,975 16,312
2) AHY 620-10 37,884,0009 — <7174>39,423,0008 = A1,539 39,423 37,884
I ] ~9,883 82,467 72,584
1) 39 620-03 142,700,0009 — <7174>51,332,0008 = A8,632 51,332 42,700
2) AH 620—10 |29,884,0009 — <71%>31,135,0009= A1,251 31,135 29,884
AR Y 12,003 265,893 277,896
FHA AL 12,003 265,893 277,896
1. 253 T A FAA L 18,169 143,610 161,779
7} 25w 620-03 161,779,0009 — <713>143,610,0004= 18,169 143,610 161,779
2. 28y W FAFAA L 276,166 122,283 116,117
7F 3 Esw 620-03 139,930,0009 — <717>38,028,0004 = 1,902 38,028 39,930
U A sk 620—10 |76,187,0009 — <7]%>84,255,0009= A~8,068 84,255 76,187
HA/FA/ALEF 1,043,963 480,912 1,524,875
FA#7 1,043,963 456,446 1,500,409
s FA A NA 1,043,963 421,075 1,465,038
1. S I FUA L= 1,043,963 421,075 1,465,038
7V w3 F A7 -2 A 118,675 224,260 342,935
1) 4x1<9 620-04 |3,240,0009= 3,240 3,240
2) 538w 620-04 |146,109,0009 — <71%4>70,673,0004= 75,436 70,673 146,109
3) 3w 22,024 17,564 39,588
7hH &3 620-04 12,464,0009 — <714>2,117,0008 = 10,347 2,117 12,464
) A 620—11 |27,124,0009 — <71%>15,447,000¢ = 11,677 15,447 27,124
4) 1587 (%) 620-04 | 146,823,0009 — <7174>136,023,0009= 10,800 136,023 146,823
5) 58w (AH) 620—-11 |7,175,0009= 7,175 7,175
. A A A ) 5} 925,288 196,815 1,122,103
1) sz 925,288 925,288
7H A An] 420-02 877,970,000 X 4.1%= 35,997 35,997
) A]An) 877,970 877,970
(1) =8 420—-03 |2,440,000€ X 260.3 11 X 60%= 381,079 381,079
(2) A 420-03 |1,708,000¢9 X 448.2nt X 60%= 459,315 459,315
(3) WEAA= 420-03 12,440,000 X 15.4m'= 37,576 37,576
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7|8 AEZ5 UG A
713y AgE e Rt S Y (2] = 9
74 o) 1=

gopzg 22| B3| 2% RESHE Sy Ao 24 AR | @)
th) A n) 420-05 |877,970,0009 X 0.72%= 6,321 6,321
gh) 7] F+o]dn) 620—03 |5,000,0009 x 11L= 5,000 5,000
St A g A 508,043 13,319,165 13,827,208
A= R P ) 251,235 6,293,041 6,544,276
1A R B B 251,235 6,293,041 6,544,276
1. w7241 251,235 6,293,041 6,544,276
7F 629 620-02 899,526,000 — <7]1%>908,097,000¢ = A8,571 908,097 899,526
U x5t 620—02 |4,214,618,0009) — <71%>4,016,417,00091 = 198,201 4,016,417 4,214,618
t} =3ty 620—02 [1,430,132,0009 — <7]17%>1,368,527,000¢ = 61,605 1,368,527 1,430,132
ArE A G A A 256,808 7,026,124 7,282,932
AAB A AR A 238,064 5,925,587 6,163,651
1. AAn AR AgRZE 238,064 5,925,587 6,163,651
7h dxdn A 620-08 |6,163,651,0009 — <7 >5,925,587,00091= 238,064 5,925,587 6,163,651
AP EATA A 18,744 1,100,537 1,119,281
1. Y9 AAASTRZ 18,744 1,100,537 1,119,281
7}, & 7] 281 620—09 [1,119,281,0009 — <71%>1,100,537,000¢ = 18,744 1,100,537 1,119,281
Sty WSS ANKAAIA 2,047,980 6,460,907 8,508,887
IEBHMNAA A 2,047,980 6,460,907 8,508,887
St A S HMNA 2,047,980 6,460,907 8,508,887
1. LA A 486,201 1,578,956 2,065,157
7}, vre: 218,236 366,601 584,837
1) Al4dn] 216,675 363,900 580,575
7hH Ax % 420-03 16,050,000 x 64 = 96,300 96,300
W) =z 420-03 |16,050,0009 x 34 = 48,150 48,150
o FxXx 420-03 [16,050,0009 x 1.54 = 24,075 24,075
2hH A" 420-03 |16,050,0009 x 34 = 48,150 48,150
2) Al Eon] 420—-05 [216,675,0009 X0.72%= 1,561 1,561
v vk 186,835 312,840 499,675
1) A1AH] 186,835 312,840 499,675
7H =% 420-03 |8,690,000¢ x 134 = 112,970 112,970
W Exx 420-03 18,690,000 x 54 = 43,450 43,450
th Forx 420-03 18,690,0009 X 3.52= 30,415 30,415
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(9] 4D

AU S £ —x= Ay FA7 7174 of| Al <H 3t A
o =4 5,300 198,240 203,540
1) A1AH] 5,300 198,240 203,540
= 420-03 |530,00091 x 1041 = 5,300 5,300
gt A 75,830 75,830
1) Al4dn] 75,830 75,830
7H A 420—03 |75,830,0009 x 14 = 75,830 75,830
2.9 - BEAIAANA 136,293 734,021 870,314
7F - A A A 136,293 734,021 870,314
1) A A 420-02 |129,060,0009 X 4.7556%= 6,138 6,138
2) A1Adn] 129,060 695,490 824,550
7H 5% 420-03 |7,170,0009 x 24 = 14,340 14,340
W) 3% 420-03 |7,170,00091 x 142 = 100,380 100,380
o dHdx 420-03 |7,170,0009 x 241 = 14,340 14,340
3) Al F-ofv] 420—-05 |129,060,0009 X 0.848%= 1,095 1,095
3. A etA A 394,629 1,849,445 2,244,074
7F A7 (A ) oA 394,629 1,138,127 1,532,756
1) AAn] 420-02 |378,335,0009 x 3.5863%= 13,569 13,569
2) Al/dn] 378,335 1,085,170 1,463,505
b EEx 420-03 |11,470,0009 X 54 = 57,350 57,350
W % 420-03 19,460,0009 x8.54 = 80,410 80,410
o %= FHAS) 420-03 11,470,000 x14.5% = 166,315 166,315
2 9z 420-03 19,460,000 x 34 = 28,380 28,380
nh) A (HAS) 420-03 |11,470,0009 x 42 = 45,880 45,880
3) A F-on] 420-05 |378,335,0009 x0.72%= 2,725 2,725
4. R ANA 634,885 361,939 996,824
7b &% 25,194 49,742 74,936
1) Al7dH] 25,194 49,742 74,936
7hH A% 420-03 |323,0009 X 78m= 25,194 25,194
L, w2 151,800 50,600 202,400
1) Al4dn] 151,800 50,600 202,400
H EEX 420-03 1253,0009 X 400m= 101,200 101,200
W) shA = 420-03 |253,0009 X 200m= 50,600 50,600

WE — S A7)
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EEHetwS2 A (sk9] @ H9))
o) 1=
oA RERE Bz R A% AR | g
= 224,891 30,094 254,985
1) A A 420-02 |711,094,0009 X 3.2338%= 22,996 22,996
2) A1Adn] 201,895 30,094 231,989
7hH A= 420—03 |239,000€ X 150m'= 35,850 35,850
W) =z 420-03 |78,000€ X 200m'= 15,600 15,600
o EXx 420-03 |78,000¢1 X 200 = 15,600 15,600
2h) A % 420-03 239,0009) X563m'= 134,845 134,845
2t JdAE T A 47,700 41,340 89,040
1) A1AH] 47,700 41,340 89,040
7H A 420—-03 [1,590,000¢9 X 30m= 47,700 47,700
nl @ FHEIRA 12,650 12,650
1) Al7dn] 12,650 12,650
7H 9E% 420-03 |253,000€ X 50m= 12,650 12,650
vl -5 1 82,800 82,800
1) A1AH] 82,800 82,800
7H X x 420—03 |6,000€ x4,000m = 24,000 24,000
W) s % 420-03 16,0009 X 9,800m'= 58,800 58,800
Ab 23|t E A 85,000 85,000
1) A1AH] 85,000 85,000
H Axx 620—04 |5,500,000¢ x14]= 5,500 5,500
W Alstx 620—04 |7,000,0009 x12]= 7,000 7,000
o HAax 620—04 |1,000,000¢ x 14 = 1,000 1,000
Zh) X% 620—04 5,000,000 x 12]= 5,000 5,000
up) WH x 620—04 |7,000,0009 x 14 = 7,000 7,000
vl WEx 620—04 |7,000,0009 x12]= 7,000 7,000
AP WARE 62004 |3,000,000¢ x 14 = 3,000 3,000
oh) YEx 620—04 |7,000,0009 x12]= 7,000 7,000
A Az 620—04 5,500,000 x 14} = 5,500 5,500
2 FAkx 620-04 6,500,0009 x 14] = 6,500 6,500
7H X% 620—04 |5,500,0009 X 14]= 5,500 5,500
Ep) &AM % 620—04 3,500,000 x 14]= 3,500 3,500
1}) &Ytz 620-04 |5,500,0009 % 12] = 5,500 5,500

W = St FAANAAE - WS BANIAE - AL SN 7




AU S = Ay FA7 7179 of| Ak <8 st A

b A= 620—04 |5,500,000¢ x 14 = 5,500 5,500

7)) A= 620—04 |5,000,000¢ x 14]= 5,000 5,000

U) FbAY 3 620—04 |5,500,0009 x 14 = 5,500 5,500

o}, A F-on] 420-05 |7,502,0009 — <71%>2,652,0009= 4,850 2,652 7,502

5. A7|A A A 170,230 754,126 924,356

7} 2" A4 (LED) 120,230 364,282 484,512

1) Al4dn] 119,250 349,800 469,050

7hH HE % 420-03 |2,650,0009 x 1021 = 26,500 26,500

) 3% 420-03 |2,650,0009 x 234 = 60,950 60,950

o) dHdx 420-03 12,650,0009 x 94 = 23,850 23,850

) $¥x 420-03 |2,650,000¢ x 341 = 7,950 7,950

2) Al En] 420-05 [111,300,000€%0.88%= 980 980

15 A R R v K| 50,000 374,844 424,844

1) Al7dn] 50,000 360,000 410,000

7hH Y% 420-03 |50,000,0009 X 1= 50,000 50,000

6. AN 87,062 692,476 779,538

7} g2 A A 87,062 692,476 779,538

1) A AH] 420-01 [82,790,0009 X5.16%= 4,272 4,272

2) A]Adn] 82,790 656,110 738,900

b EEXT 420-03 [82,790,00094 x 14 = 82,790 82,790

7. AAF A (AH)D 88,680 467,900 556,580

7t A LA 88,680 88,680

1) WAL= 620—11 |14,780,0009 X 621 = 88,680 88,680

8. Al A NA (AFH) 0 2,044 2,044

7F AE A 2,044 2,044
) A= 420-01 |09 — <718>2,044,0009 = A2,044 2,044

2) s 620—-11 |4,0009x511m'= 2,044 2,044

9. A7 A1 (AHR) 50,000 0 50,000

7} Az A A A 50,000 50,000

1) WAk 620—11 |50,000,000¢ x 1%= 50,000 50,000

A =Ly 529,928 1,467,350 1,997,278

5 14,570 1,090,037 1,104,607
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7188 A2 S
719 AR et S A A% (k9] - 4D
gopzg 22| B3| 2% AR %A% AU e L EEE TR R
A 5§32 10,150 33,963 44,113
ZGANDEZ AT 10,150 33,963 44,113
CSER 10,150 0 10,150
7t 258w 620-03 |10,150,0009 = 10,150 10,150
Sl x| A 3 4,420 883,178 887,598
sH Al ] A 8 B 4,420 883,178 887,598
1. E38A=9 2,800 780,180 782,980
7}, frol R A 620-03 |100,000¢ x 287} = 2,800 2,800
2. BAEE =] 1,620 102,998 104,618
7}, &4n) 310-01 |5,220,0009 — <7]%>3,600,0009 = 1,620 3,600 5,220
71 B9 7 502,932 377,313 880,245
71 2 -$-n) 1,918 367,113 369,031
AL LRSS 1,918 367,113 369,031
1. A 7| 2L An) 1,918 126,928 128,846
7}, we-A) 3} 1,558 55,048 56,606
1) 2uk-g-oln 208 6,608 6,816
7hH s 210-01 |5,616,000¢ — <717%8>5,408,0004 = 208 5,408 5,616
2) ojn] 1,350 36,480 37,830
7hH Z 220-01 |17,130,000¢ — <71%>16,830,000¢ = 300 16,830 17,130
W} = 220-01 15,240,000 — <71%>14,400,0009 = 840 14,400 15,240
) = 220-01 |5,460,0009 — <7]%>5,250,0009 = 210 5,250 5,460
L B A 3 360 71,880 72,240
1) EAAEAN 360 9,960 10,320
7 AT T 250-03 |1,800,0009 — <7]1%>1,440,0009 = 360 1,440 1,800
s - DA DAPE] 501,014 10,200 511,214
TSR GH A E B e 501,014 10,200 511,214
1. 28R LPA A 501,014 10,200 511,214
7}, Hokm A 9 Y a}er sl 7] A 180,263 180,263
1) FAAEANE= 128,663 128,663
7h) A A 420-02 |123,620,0009 X 4.08%= 5,043 5,043
) A A B (o} AF) 420-03 |82,0009 X 400m'= 32,800 32,800
th) AJAH] (RFA=EA) 420-03 |239,0009 X 380m'= 90,820 90,820
WE - WEUW - VB G AR - BFYY 7B - n A LG e




7188 A& 22 A
713y AgE e Rt S Y (2] = 9
gopzg 22| B3| 2% RESHE Sy Ao 24 AR | @)
2) T A 420-03 |1,000,0009 x 184 t)= 18,000 18,000
3) B 430—01 [800,000¢ x 244 t)= 19,200 19,200
4) oo} A 430-01 |600,0009 x 24 4= 14,400 14,400
U Gt w A dAALE S ) A 251,751 251,751
1) CCTVAA 210-09 |3,000,000¢ x 14 = 3,000 3,000
2) FAEA 248,751 248,751
7h A Am] 420-02 |239,000,000¢ x 4.08%= 9,751 9,751
W) AJAdE] (A== A) 420-03 |239,000€9 X 1,000m'= 239,000 239,000
o}, A zoked A 7 69,000 69,000
1) AAAF 420-03 [323,0009 X 200m= 64,600 64,600
2) BlET¢ 4,400 4,400
7hH WBAa 430-01 |1,500,0009¢ x 1t}= 1,500 1,500
) A&7 430-01 |1,250,000¢ x 2t}]= 2,500 2,500
th 8 A E7] 430-01 |200,000¢ x 20 = 400 400
of v v L 7] E} 12,426 0 12,426
o v L7 e} 12,426 0 12,426
AAETT 12,426 0 12,426
1. AR EZF 12,426 0 12,426
7. A A B2 7] 3 g N gk 12,426 12,426
1) ol wAMH B Z AL 710-02 12,425,9909= 12,426 12,426
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